1 ey FIOY TT IEFTERET T e,

Ans
v gEHTEur
X2 g T FOT
X 3 fagarg gor
X 4 ofrdr greor
Question Type : MCQ
Question ID : 630680321496
Option 11D : 6306801250693
Option 21D : 6306801250694
Option 3 1D : 6306801250696
Option 4 1D : 6306801250695
Status - Answered
Chosen Option : 1
Marks: 2
Q2 FrawRTeT UEAE B JHEE BHE A AT TEAATSr AT ST GO
e X TEraR Aoy
X3 ISR FHOY
X 4 @Y HIE0T
Question Type : MCQ
Question ID : 630680321501
Option 11D : 6306801250715
Option 21D : 6306801250716
Option 3 1D : 6306801250714
Option 4 1D : 6306801250713
Status : Answered
Chosen Option: 2
Marks: 2




s X e faeET
X2 8 IR TETEr
v TEENT
X4 g ey
Question Type : MCQ
Question ID : 630680321504
Option 1 1D : 6306801250725
Option 21D : 6306801250728
Option 3 1D : 6306801250727
Option 4 1D : 6306801250726
Status : Answered
Chosen Option: 2
Marks: 0
Q.4 .
TRTEAT FTHY G AP - TIET HSEr.
Ans vy ﬁ ﬂ
X2 gEY
A iC
X4 FH Faor
Question Type : MCQ
Question |1D : 630680321488
Option 11D : 6306801250662
Option 2 1D : 6306801250664
Option 31D : 6306801250663
Option 4 1D : 6306801250661
Status : Answered
Chosen Option : 3
Marks: 0




Q5 Zoremr Y 91 T TSI ST FIH FhA YU AT e FFOT FeA.

s w1 & iR waT wetRuT
X 2 O AT Jeir

X 3 ZgTEr @raT 9@ ST ITASEr 2T
X 4 FrEE WU 3rel &g Ul

Question Type :
Question 1D :
Option 11D :
Option 21D :
Optien 31D :
Option 41D :

Status :

Chaosen Option :

Marks :

McQ
630680321497
6306801250698
6306801250700
6306801250697
6306801250699
Answered

1

2

¥ aitues, fRfmom Frer FEETS e geT.
Ans X‘I@-‘TUT

X7 arEdr

il o

X 4 GgHFOr

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680321489
6306801250667
6306801250668
6306801250666
6306801250665
Answered

3

2




R = ‘[ TATATET FAFHT e FeaT.

Ans
x 1. fAqor
2
X 2 forsary
X3 e
v Fae
Question Type : MCQ
Question ID : 630680321502
Option 11D : 6306801250720
Option 2 1D : 6306801250719
Option 3 1D : 6306801250717
Option 4 ID : 6306801250718
Status : Answered
Chosen Qption : 4
Marks : 2
Qs
ITF AFET AT
Ans
X1 A Rear=ar sgsaa A AR Felr A
X2
Holl HToIodT AGA TGN HeAsh HIBIIEA arena= HTe.
v 3 HATHRITES dR #Aell 9 AT,
1 .
X 4 FEULAS A AFAAT 5T TIN FF FH.
Question Type : MCQ
Question 1D : 630680321483
Option 11D : 6306801250643
Option 21D : 6306801250644
Option 3 1D : 6306801250641
Option 41D : 6306801250642
Status : Answered
Chosen Option: 3
Marks : 2




¥ ‘s REwia ST 7Y TeeSr TEAEe 9 M.
e 1

X2 i

X3 e

X\ gEHF Fadr

Question Type :
Question 1D :
Option 11D :
Option 21D :
Optien 31D :
Option 41D :

Status :

Chaosen Option :

Marks :

McQ
630680321487
6306801250657
6306801250659
6306801250660
6306801250658
Answered

1

2

1 3 greEREaT FEE
Ans X 1.

FETRE=aT ITIRIE] ST FIOATHTS! ST TT=RUT el
X 2 g Foqs TS TOT AL HEMIE.

v BT O O HIgH FTeNRs HTel.

X4 qUAAS HTSIT TSorel ERITST WBUT B,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680321482
6306801250640
6306801250639
6306801250638
6306801250637
Answered

3

2




ek JEET TEAET FHTET SaTeor o,

A X0 B
X 2 qH-TH
v FERET
X4 guTerEr
Question Type : MCQ
Question ID : 630680321495
Option 11D : 6306801250690
Option 21D : 6306801250689
Option 3 I1D : 6306801250692
Option 4 1D : 6306801250691
Status - Answered
Chosen Option: 3
Marks : 2
W12 AT e FT HE?
Ans ’
X1 zgrEeT
X 2 Hohol
5 Adehed
X 4 e
Question Type : MCQ
Question ID : 630680321503
Option 11D : 6306801250724
Option 2 1D - 6306801250722
Option 3 1D : 6306801250721
Option 41D : 6306801250723
Status : Answered
Chosen Option : 3
Marks : 2




W Rrdvmde & ey ¥ S s
X FEeET TR

X 2. FEORTEN RregureRt

v o fasumerET RegueR

X4 3, 9. HTRHT

Question Type :
Question ID :
Option 11D
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCcQ
630680321505
6306801250732
6306801250729
6306801250730
6306801250731
Answered

4

0

O rrar oreerE fFavanft weg FUET 3R?
e X o

v

X 3 doold

X 4ogEr

Question Type:
Question ID :
Option 11D :
QOption 21D :
Option 31D :
Option 4 1D :

: Answered

Status

Chosen Option :
-2

Marks

McQ
630680321491
6306801250675
6306801250673
6306801250674
6306801250676

2




U ey eregrEr Tt orem g,

X0 Al

X2 T
v @ |EYg
X 4 TTEFRT

Question Type :
Question 1D :

Option 11D
Option 2 1D

McQ
630680321493

: 6306801250683
1 6306801250682
Option31D:
Option 41D :
Status :

Chosen Option :
Marks :

6306801250684
6306801250681
Answered

3

2

Q16 3y et FUER IFTIR FAGE HIOT AEAT FAFS TIY AR o

" X R 3EOT
V7 gl FoT
X3 FAT FTeseTor
X4 FFET o

Question Type:
1 630680321500
Option 11D :
: 6306801250711
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

Question ID

Option 2 1D

MCcQ
6306801250709

6306801250712
6306801250710
Answered

2

2




V7 g ety - ‘Gz

A X0 segdee

X 3. gfa9r
x4 gaeE

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Qption :

Marks :

McQ
630680321494
6306801250685
6306801250686
6306801250688
6306801250687
Answered

2

2

1 SR ereTaT JFET 37 efem

Ans o1 oot
v A
X 3. drar
X 4 39ad

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680321485
6306801250650
6306801250649
6306801250652
6306801250651
Answered

v

2




O e Tt FROY AT HTRIATET SRR T
e X0 s wTEor

v 7 FTEUEHE FI0T

X3 FHeT qTdes gror

X 4 FHBH FoT

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option3 1D :
Option 4 1D :

Status :

Chosen Option :

Marks :

mcaq
630680321498
6306801250704
6306801250703
6306801250702
6306801250701
Answered

2

2

20 e 9fte SO UM Aol a7
s X1 e gEw

v CIeHET UG ause
X3 g F. Al
xa.giﬂr-rmﬁa

Question Type
Question ID
Option 11D
Option 2 1D
Option 31D

: MCQ
1 630680321506
: 6306801250733
1 6306801250734
: 6306801250735
Option 4 1D :
Status :
Chosen Option :
Marks :

6306801250736
Answered

v

2




¥ e Foer T Ao e 3 g @ar
Ats o1 3TSITOT

X2 e

73 AHHT

X4 yfeaar

Question ID
Option 2 1D

Option 4 ID

Question Type :
1 630680321486
Option 11D
: 6306801250653
Option 31D :
: 6306801250654

Status :
Chosen Option :

Marks :

McQ
6306801250655
6306801250656
Answered

1
2

022 ‘ger snfaeTen BHES T AT AT FAWE AT TFIER G
e X0 aiteRor

X 2 IMGBUT 3Z0T

X3 IS FATRTOT

v & FERT 0T

Marks

Question Type:
Question 1D :
Option 11D :
Option 21D :
Option31D:
Option 4 1D :

Status:

Chosen Option :

22

mcQ
630680321499
6306801250708
6306801250706
6306801250707
6306801250705
Answered

4




V% g RTEEER @ e

Ans

v BT Teard AT FOTEr Y9 TET Fegd.

X1 # FH FUT HEAEAT MBI HeAaAT IS =,

x 3 Freaq ffgoamr gemarér A 9fgen Tae I

X 4 #r 3w Segreea IiaEa F1F Fd AT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

1 Answered

Chosen Option :

Marks :

Status

McQ
630680321484
6306801250648
6306801250647
6306801250646
6306801250645

2
2

2 g eregrET et orez faE.
Ans vy m

Xzﬂsﬁ;@'

X5 freh

X 4. UIgrgT

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option3 1D :
Option 4 1D :

Status :

Chosen Option :

Marks :

mcQ
630680321492
6306801250679
6306801250677
6306801250678
6306801250680
Answered

1

2




Q.25

Ans

‘URTAY TT reT=T FATATS! ereg g,

¢ |- TOTETOT
X2 &F
X 3. gReTT
X4 BAa
Question Type : MCQ
Question ID - 630680321490
Option 11D : 6306801250671
Option 2 ID : 6306801250669
Option 3 1D : 6306801250672
Option 4 1D : 6306801250670
Status : Answered
Chosen Option: 1
Marks : 2
Section : English Language
Q1 Select the most appropriate option for the given blank.
For the most part. he was far fashionable a person.
Ans % 1. Enough
v 2 Too
X< 3. Some
X 4 So
Question Type : MCQ
Question ID : 630680311663
Option 11D : 6306801212737
Option 2 ID - 6306801212738
Option 310 : 6306801212739
Option 41D - 6306801212740
Status : Answered
Chosen Option: 1
Marks: 0




Q.2 select the option that uses the correct punctuation marks for the given sentence.

_ she exclaimed. sharply.
Ans X 1. "You"

X 2 You?

X 3. "You!

« 4 "You!"

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680311640
6306801212648
6306801212645
6306801212646
6306801212647
Answered

4

2

Q3 Tdentify the most appropriate meaning of the given idiom/phrase.

Knock on wood
Ans 1. Said in order to avoid bad luck

X 2 Bang someone’s head
X 3. To bring harm to someone

X 4. State something obvious

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680311659
6306801212721
6306801212723
6306801212722
6306801212724
Answered

1

2




Q.4 Select the most appropriate option for the given blank.

Today I tried to make potato salad; needless to say, it didn’t go well.
Ans X 1. Many
v 2 Too
X3 Much
X 4. Very
Question Type : MCQ
Question ID : 630680311664
Option 110 : 6306801212744
Option 21D : 6306801212741
Option 3 10 : 6306801212743
Option 41D : 6306801212742
Status : Answered
Chosen Option: 4
Marks: 0
Q5 gSelect the INCORRECTLY spelt word.
Ans 1 Nostlagic
X 2. Professor
X 3. Mantle
X 4 Trimmed
Question Type : MCQ
Question ID : 630680311655
Option 11D : 6306801212708
Option 21D : 6306801212705
Option 31D : 6306801212707
Option 4 10 : 6306801212706
Status : Answered
Chosen Option: 1
Marks : 2




Q6  Choose the most appropriate antonym of the given word.

Oblivious

X 1. Incognizant
X 2. Heedless
X 3. Nescient

« 4 Conversant

Ans

Question Type :
Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

Mmca
630680311662
6306801212735
6306801212734
6306801212733
6306801212736
Answered

4

2

Q7  Select the most appropriate option for the given blank.

Above the television hangs black and white poster.

Ans X 1. the, a
X2aa

+ 2 a, no article
X 4. an, the

Question Type :
Question D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

Marks

McQ
630680311653
6306801212700
6306801212697
6306801212699
6306801212698
Answered

3

12




Q8  Select the most appropriate option for the given blank.

The rattle of wheels
Ans 1. had died

X 2 has died

X 3. Dies

X 4 Died

out of the air when William opened his eyes.

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

MCQ
630680311646
6306801212670
6306801212669
6306801212672
6306801212671
Answered

1

2

Q9 Identify the most appropriate meaning of the given idiom/phrase.

Get your walking papers
Ans 1 To be dismissed from employment
X 2 To permit someone
X 3. To get official documents signed

X 4 To make false accusations

Question Type :
Question D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
2

Marks

McQ
630680311657
6306801212713
6306801212716
6306801212715
6306801212714
Answered

1




Q10 Select the most appropriate option for the given blank.

Not a single enemy showed himself morning night.
Ans X 1..in, at
« 2 from, to
X 3 of. till
X 4 in, to
Question Type : MCQ
Question ID : 630680311650
Option 11D : 6306801212688
Option 21D : 6306801212686
Option 31D : 6306801212687
Option 4 ID : 6306801212685
Status : Answered
Chosen Option : 2
Marks : 2
Q11 Select the correct passive form of the given sentence.
Have you tried this vellow dress?
Ans X 1. Have this yellow dress been tried?
« 2. Has this yellow dress been tried by you?
X 3. Did this yellow dress tried by you?
X 4. Has this yellow dress tried by you?
Question Type - MCQ
Question ID : 630680311648
Option 11D : 6306801212680
Option 21D : 6306801212677
Option 31D : 6306801212678
Option 4 1D : 6306801212679
Status : Answered
Chosen Option : 2
Marks: 2




Q.12 Find the part of the sentence that has & grammatical error.

Tt will be very grateful to me if I can afford you the protection that you seeking for your journey.

Ans X 1. to me if I can afford you the

« 2. protection that you seeking
X 3. for your journey
X 4. It will be very grateful

Question Type :
Question ID :
Option 11D :
Option 21D :

1 6306801212668

Option 41D :
Status :

Chosen Option :
Marks :

Option 3 1D

mMcQ
630680311645
6306801212666
6306801212667

6306801212665
Answered

2

2

Q13 Choose the most appropriate synonym of the given word.

Timorous

Ans X 1. Plucky
X 2 Valiant
¥ 5 Craven
X 4. Dashing

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D

: 6306801212729

Status :

Chaosen Option :

Marks :

Option 4 1D

Mca
630680311661
6306801212730
6306801212732
6306801212731

Answered
4
0




Q.14 Find the part of the sentence that has a grammatical error.

If vou are facing trouble while accessing Internet or making calls on Z network, read of.

Ans X 1. Internet or making calls
X 2. trouble while accessing
X 3. If you are facing

« 4 on Z network, read of

Question Type : MCQ
Question ID : 630680311652
Option 11D : 6306801212695
Option 21D : 6306801212694
Option 3 1D : 6306801212693
Option 410 - 6306801212696
Status : Answered
Chosen Option: 4
Marks: 2

Q.15 Select the option that uses the correct punctuation marks for the given sentence.
There are three types of muscleinthe  smooth, and skeletal.
Ans X 1. body: cardiac
X 2. body: cardiac,
« 3 body: cardiac,
X 4. body- cardiac

Question Type : MCQ
Question ID : 630680311641
Option 110 : 6306801212650
Option 2 1D : 6306801212651
Option 31D : 6306801212649
Option 4 1D : 6306801212652
Status : Answered
Chosen Option: 3
Marks: 2




Q16 Select the correct passive form of the given sentence.

She was mocking everyone at that party.
Ans X 1. Everyone was mocked by her at that party.
X 2. Everyone is being mocked by her at that party.
X 3. Everyone has been mocked by her at that party.

« & Everyone was being mocked by her at that party.

Question Type:
Question ID :
Option 11D :
Option 21D:
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680311647
6306801212674
6306801212673
6306801212676
6306801212675
Answered

4

2

Q17" Select the most appropriate option for the given blank.

I don’t need to call her right away, ?
Ans 1. dol

X2 dont1

X 3 should I

X4 jsn'tit

Question Type:
Question 1D :
Option11D:
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680311643
6306801212660
6306801212658
6306801212657
6306801212659
Answered

1

2




Q18 Select the most appropriate option for the given blank.

Perhaps the wind flagged little as the sun rose.
Ans X 1. No article
X2 An
v3 A
X 4 the
Question Type : MCQ
Question ID : 630680311654
Option 11D : 6306801212701
Option 21D : 6306801212703
Option 3 |10 : 6306801212702
Option 41D : 6306801212704
Status : Answered
Chosen Option : 3
Marks : 2
Q19 Choose the most appropriate synonym of the given word.
Brisk
Ans o 1. Weary
X 2. Tedious
X 3. Dead
« ¢ Lively
Question Type : MCQ
Question ID : 630680311660
Option 11D : 6306801212727
Option 21D : 6306801212728
Option 31D 6306801212725
Option 4 1D : 6306801212726
Status : Answered
Chosen Option : 2
Marks: 0




Q20 1dentify the most appropriate meaning of the given idiom/phrase.

Drive someone up the wall

Ans X 1. To care for someone a lot
X 2. To restrict someone’s movement
« 3 To make someone extremely angry
X 4. To obtain a large amount of money suddenly
Question Type : MCQ
Question ID : 630680311658
Option 11D : 6306801212720
Option 2 1D : 6306801212717
Option 31D : 6306801212719
Option 41D : 6306801212718
Status - Answered
Chosen Option: 3
Marks : 2
Q21 Select the sentence with no spelling error.
Ans X 1.
I am not taking about some rich, secret, powerful indiviudal.
X2
I am not talking about some rich, secret, powerfull individual.
&3
I am not talking about some rich, secret, powerful individual.
X4
I am not talking about some rich, secrat, powerful individual.
Question Type : MCQ
Question ID : 630680311656
Option 11D : 6306801212710
Option 21D : 6306801212712
Option 31D : 6306801212711
Option 41D : 6306801212709
Status : Answered
Chosen Option: 3

Marks :

2




Q22 gSelect the most appropriate option for the given blank.

They did not the trades which made a loud noise.
Ans X 1. have permitted
X 2. Permits
X 3. Permitted
« 4 Permit
Question Type : MCQ
Question ID : 630680311649
Option 11D : 6306801212684
Option 21D : 6306801212683
Option 31D : 6306801212682
Option 4 1D : 6306801212681
Status : Answered
Chosen Option: 4
Marks : 2
Q.23 Find the part of the sentence that has a grammatical error.
The citizens of the area longed on rain. which is natural when it is so terribly dry year-round,
Ans X 1. which is natural when it is
« 2 longed on rain
X 3. The citizens of the area
X 4. so terribly dry year-round
Question Type : MCQ
Question ID : 630680311651
Option 11D : 6306801212691
Option 2 1D : 6306801212690
Option 31D : 6306801212689
Option 4 1D : 6306801212692
Status : Answered
Chosen Option : 4

Marks

:0




Q24 Find the part of the sentence that has a grammatical error.

I have nothing to sell, you seen, and I am in a hurry.
Ans  p 1 you seen

X 2. ] have

X 3 and I am in a hurry

X 4. nothing to sell

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D -
Status :

Chosen Option :
Marks :

mMcQ
630680311644
6306801212663
6306801212661
6306801212664
6306801212662
Answered

1

2

Q25 Select the most appropriate option for the given blank.

She is a medical officer, ?
Ans &1 isn’t she

X 2. do she

X 3. is she

X 4 isn't her

Question Type :
Question 1D :
Option 71D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680311642
6306801212655
6306801212654
6306801212656
6306801212653
Answered

1

2

Section : General Knowledge
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Question Type :
Question ID :
Option11D:
Option 21D :
Option 3 1D :
Option 4 1D :

Status:

Chosen Option :

Marks :

Mca
630680312497
6306801215869
6306801215870
6306801215871
6306801215872
Answered

2

0

2 e FvEdT fSElt FeTde TS 9FE 9E5a?

Ans % 1. grefrETe
v Aifaers
X3

X 4 FAETEER

Question Type :
1 630680312495
Option 11D :
1 6306801215864
Option 31D :
: 6306801215861

Status:
Chosen Option :

Marks :

Question ID
Option 2 1D

Option 41D

McQ
6306801215863
6306801215862
Answered

2
2




Q.3

7, W gau-oa gos I18% J=T o S=e.

Ans - w1.1990
X2 1981
X 3. 1987
X4.1993
Question Type : MCQ
Question ID : 630680312509
Option 11D : 6306801215919
Option 21D - 6306801215920
Option 3 10 : 6306801215917
Option 41D : 6306801215918
Status : Answered
Chosen Option: 3
Marks: 0
Q.4  Which of the following statement is correct?
L. The elements of weather and climate are different.
IT. Temperature, atmospheric pressure. wind, humidity and precipitation are the elements of weather.
Ans X 1. BothIand II
X 2 Neither I nor II
X3 OnlyI
¢4 OnlyII
Question Type : MCQ
Question ID : 630680312496
Option 11D : 6306801215867
Option 210 : 6306801215868
Option 31D - 6306801215865
Option 4 1D : 6306801215866
Status : Answered
Chosen Option : 4
Marks: 2
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Ans
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xz.aﬁmms

X3 aa%é::: 132
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Question Type :
Question ID:
Option 11D :
Optien 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312501
6306801215886
6306801215888
6306801215885
6306801215887
Answered

1

2

Q6 figar 2022 e ARAEER, TS TT ARAr FEET T A HgE AT 32

Ans

X1 geer &g Sl
X 2 ToATRT IMTHATS
v GAa Afew

x4 foomg &Y. 9

Option 4 1D

Chosen Option

Question Type :
Question ID :
Option 11D :
Option 21D -
Option 3 1D :

McQ
630680312507
6306801215911
6306801215909
6306801215912

1 6306801215910
Status :
-4
Marks :

Answered

0




Q.7

Ans

Which is of the following statement is correct?

L The cell walls permit the cells of plants, fingi and bacteria to withstand very dilite sxtenial medin without bupsting,

1. Cellulose is a complex substance and provides struetural strength to planis.

« 1 BothIandII
X 2. Neither I nor II
X3 OnlyII

X4 OnlyI

Question Type :
Question |D :
Option11D:
Option 21D :
Option 31D :
Opticn 41D :
Status :

Chosen Option :
Marks :

McaQ
630680312504
6306801215899
6306801215900
6306801215898
6306801215897
Answered

1

2

Q8 ‘Which of the following statements is correct about Gopal Krishna Gokhale?

Ans

1. He founded the servants of India society in 1905.
II. He was a barrister in early life.

X 1. OnlyII

v 2 Onlyl

3. Neither I nor II

X 4 BothIandII

Question Type :
Question D :
Option 11D :
Option 21D :
Option31D:
Option 41D :
Status :

Chosen Option :
12

Marks

Mca
630680312506
6306801215906
6306801215905
6306801215908
6306801215907
Answered

2




Q.9

Ans

Ji=AT ST FHTSATT TUTIAT Fer 2
X 1. FNTS FUT @S
X 2. 3OTer HWETa
v HTERARTA ST

X+ FEeg MfEe T

Question Type :
Question 1D :

Option 11D

McaQ
630680312505

- 6306801215903
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

6306801215901
6306801215904
6306801215902
Answered

3

2

Q10 The cell wall of fungi are made of :

Ans

X 1. Protein

X 2. Carbohydrates
« 3 Chitin

X 4 Cellulose

Question Type :
: 630680312502
: 6306801215890
: 6306801215889
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

Question ID
Option 11D
Option 21D

MCQ

6306801215891
6306801215892
Answered

3

2




Q.1 @ ST RUEvT FsET=ar ATfEEN, 2019-2020 HLd KA gAY & weifEes H9feeE

AT

Ans X 1. 534 s@
V2 347 9@
X3 473 FM@
X4 734 F@

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D

Status :

Chosen Option :

Marks :

McQ
630680312487
6306801215831
6306801215829
6306801215830

: 6306801215832

Answered
4
0

Q12 e ToTHEAEE AT FUTET etE § T SR SR g e
o AiET=ar sfwEET= il wafte s

Ans was
X2 HJ=E 7
X3 3egese 5
v ¢ HITOE 6

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
QOption 41D :

Status :

Chosen Option :

Marks :

McQ
630680312500
6306801215884
6306801215883
6306801215881
6306801215882
Answered

2

0




T ST A EEUE AT A2
X feates egmErR

X2 ST TAAES T

v A FEeEe

X4 T EE BIEEAr

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312490
6306801215844
6306801215841
6306801215842
6306801215843
Answered

3

2

W e Ey e weh TUTOer 7 age Fe A

|. HETEIeTH 8w

\I. &TaT THEE
X Faes |
v 2 | 3T 1| SR
X3 Faa I
X4 | fFar || Fr Terer AT

Question Type :
Question ID :

- 6306801215849
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :
32

Option 11D

Marks

McQ
630680312492

6306801215851
6306801215850
6306801215852
Answered

2




Q15 mdE TeuEeH=aT HeEE 11 FER, WIETeRT ST ARTweTear FwR SR sean
U 3R

A X grare wefew =amare
X 2 ST TSgaar
X3 I aTer qaueTs
v AR FHE

L

Question Type :
Question 1D :
Option 11D:
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

McQ
630680312499
6306801215879
6306801215877
6306801215878
6306801215880
Answered

4

2

Q.16 Fell, AR e FUTHR NS0T GRAASI0 § WA aearey fm S saar
(T3ET) FH FIVLH I

Ans X1.1993
X2 1996
¥3.1986
v+ 1990

Option 1 1D

Question Type :
Question ID -

: 6306801215915
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

MmcQ
630680312508

6306801215916
6306801215913
6306801215914
Answered

4

2




Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680312486
6306801215826
6306801215828
6306801215827
6306801215825
Answered

1

2

Q18 grfierr FIUTE FAEEEEEAT FE [WEER 2022 F FAAT FIOAS A1

Ans

X e SR
v 2 el FAT
X 3. gefrem &
X4 HrAgETr HuTEre

Question Type :
Question ID :
Option 11D
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680312485
6306801215824
6306801215823
6306801215822
6306801215821
Answered

3

0




Q.19 Which of the following statements is carrect regarding Atal Pension Yojana?

I, This scheme was lannched in 2018,

1L Under this scheme, mininmim pension of Rs 5000 is guamnteed by the Government of India 1o the subseriler at the

nge of 60 vears, with a minimum monthly contribution (for those jolning at age 18) of Rs 210,

Ans X 1. Neither I nor IT

X2 BothIandII
« 3 Only I
X4 OnlyI
Question Type : MCQ
Question ID : 630680312488
Option 11D : 6306801215836
Option 21D : 6306801215835
Option 31D : 6306801215834
Option 4 ID : 6306801215833
Status : Answered
Chosen Option : 2
Marks : 0
Q20 Eyplectella belongs to which group of animal kingdom?
Ans X 1. Nematode
X 2 Coelenterates
X 3. Platyhelminthes
+ 4 Porifera
Question Type : MCQ
Question ID : 630680312503
Option 11D : 6306801215896
Option 2 1D : 6306801215894
Option 31D : 6306801215895
Option 4 1D : 6306801215893
Status : Answered

Chosen Option :
:0

Marks

1




Q21 2011 =7 FEEUEGER, Rraw uHT FHET @ SRAAT ORY ASEE=ar = AR

Ans X 1.1.7
xz 3.7
X304
v+ 23

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312498
6306801215874
6306801215876
6306801215873
6306801215875
Answered

2

0

0% gare wE WEeET e fSHONT A AT e B

Ans XT'W
xgm
X3 gReEr
4 G (FHEETE)

Question Type :
Question ID :
Option 11D
QOption 21D :
Option31D:
Option4 1D :

Status :

Chosen Option :

-0

Marks

MCQ
630680312494
6306801215860
6306801215858
6306801215859
6306801215857
Answered

2

Ns e, SRATAT Tegek FooTol @ead & gear f&ar .

Ans X1.1862
X2 1868
v 3 1858
x4 1852

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

13

Marks :

Chosen Option

MCQ
630680312491
6306801215847
6306801215848
6306801215846
6306801215845
Answered

2




Q24 Which of the following statements is cotrect regarding Robert Clive?

I. He led the Company’s army against Sirajuddaulah at the Battle of Plassey.

II. He initiated the policy of 'paramountcy’.

Ans X 1. Only I
X 2. Neither I nor II
« 3 OnlyI
X 4 BothIandII
Question Type : MCQ
Question ID : 630680312493
Option 11D : 6306801215854
Option 2 1D : 6306801215856
Option 3 1D : 6306801215853
Option 4 1D : 6306801215855
Status : Answered
Chosen Option : 3
Marks : 2
Q.25 AU, ¥R 39 e (S 3w el sffaan sfufaafie s s
Ans X 1. 1982
X2 1962
'3 1972
X 4. 1952

Question Type : MCQ
Question ID : 630680312489
Option 11D : 6306801215840
Option 21D : 6306801215838
Option 3 1D : 6306801215839
Option 410 - 6306801215837
Status : Answered
Chosen Option: 1
Marks : 0

20N

General Intelligence




! e T, R AfeRa SeAfegrear Seh dondr @ B
1, 2, 6, 15, 31, 7, 92
Ans X1 B4
X2 47
X3 50
v 4 56

Question Type : MCQ
Question 1D : 630680312903
Option 11D : 6306801217491
Option 2 1D - 6306801217492
Option 31D : 6306801217489
Option 41D : 6306801217490
Status : Answered
Chosen Option : 4
Marks : 2

02 e A, REeaT AR SRATIETST AT AU S .

100, 96, 88, 72, 40, ?
Ans 1. 24

X210

X3 -15

x40

Question Type : MCQ
Question ID : 630680312902
Option 11D : 6306801217485
Option 2 1D : 6306801217486
Option 3 1D : 6306801217488
Option 4 1D : 6306801217487
Status : Answered
Chosen Option : 1
Marks: 2




Q3 gt e 3T TG YT TS T T T e 3R U ST a9

ABEIDGOSURKTEVNOIA
Ans K1-8

X2 7
X3 6
&4 5
Question Type : MCQ
Question ID : 630680312897
Option 11D : 6306801217468
Option 21D : 6306801217467
Option 3 1D : 6306801217465
Option 4 |1D : 6306801217466
Status : Answered
Chosen Option: 4
Marks : 2
Q.4 Inthe following question below are given some statements followed by some conclusions based on those statements,
Taking the given statements to be true even if they seem to be at vatiance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given statements.
Statements:
L Some bottle are table.
IL All bortle are kite.
Conelusion:
1. Some kKite are table.
1L All table are bottle.
L All kite are bottle.
Ans 1. Only conclusion I follows
X 2. Neither conclusion follows
X 3. Only conclusion II follows
X 4 Both conclusions I and III follows
Question Type : MCQ
Question ID : 630680312892
Option 11D : 6306801217447
Option 21D : 6306801217448
Option 3 1D : 6306801217445
Option 4 1D : 6306801217446
Status : Answered
Chosen Option - 1
Marks : 2




Q.5 wEw WA, 9% JE-AEAT e R

Ans

() = sEvEE e f () = SodEET Rl FIE A e ERy aER $RT A e
e/ TSR AT U i FRT-SE CREATE HEE. [Seer SUias TErE F aE 94 S

X1 KWC - LYD
X2 AMS - BOT
X3 UGM - VIN
v FTS - GVG

Question Type :
Question 1D :

1 6306801217484
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

Option 11D

mca
630680312901

6306801217483
6306801217482
6306801217481
Answered

4

2

W greirer weara, Rerear g Rww sew/san e

Ans

X1 PS -O0OR
v2 0S - PQ
X3 HM - GL
X4 AF - ZE

Question Type:
Question ID :
Option11D:
Option 21D :
Option 31D :

1 6306801217477

Status :

Chosen Option :

Marks :

Option 4 1D

mcaQ
630680312900
6306801217479
6306801217480
6306801217478

Answered
2
2




7 Forem A R EeTEee HedTH FHEUT TAIET @S

95-36+4+5x15=65
e v x afor +

X2 x rfor -
X3 + apfor +
74+ 3qforY -
Question Type : MCQ
Question ID : 630680312904
Option 11D : 6306801217494
Option 21D : 6306801217493
Option 3 1D : 6306801217495
Option 4 1D : 6306801217496
Status : Answered
Chosen Option - 1
Marks : 2
Q.8 v vz Em FwA v AfaE fEEl g, Reen wuues & AfdE ot sy sgw s e
COVI, HICA, MCJS, RWQK, ?
Ans %1 WNNR
v 2 WQXC
23 WQyQ
X4 NQRM
Question Type : MCQ
Question ID : 630680312896
Option 11D : 6306801217462
Option 21D : 6306801217463
Option 31D : 6306801217464
Option 4 10 - 6306801217461
Status - Answered
Chosen Option: 2
Marks: 2




W grefer weaTa, e T wettE HeR-EEr e

JW:MZ 2
Ans X1.0OX : 2J
X2 DF : AB
v LV :0Y
X4 MO : OM

Question Type : MCQ
Question ID : 630680312898
Option 11D : 6306801217472
Option 210 - 6306801217470
Option 3 I1D : 6306801217471
Option 41D : 6306801217469
Status : Answered
Chosen Option: 3
Marks : 2

Q.10 In the following question below ate given some sttements followed by some conclusions based on those statements,
Taking the given statements 1o be true even if they seem to be at varlance from commonly known facte. Read all the
conchisions and then decide which of the given conclusion logically follows the given statements,

Statements:
LallQareZ.
M NoLisZ
Conclusion:
INoZisL.
L.NeQisL

1L Somie Z afe Q.

Ans X 1. Both conclusions II and III follows
X 2 Both conclusions I and III follows
« 3 All conclusion follows
X 4. Both conclusions I and II follows

Question Type : MCQ
Question ID : 630680312893
Option 11D : 6306801217449
Option 2 1D : 6306801217451
Option 31D : 6306801217452
Option 4 1D : 6306801217450
Status : Answered
Chosen Option : 3
Marks: 2




Q11 v 9z TEE SweH TF A G 3R, Rewdr gy & sfeer 9ot s sgs s e
TRMR, SQJO, RPGL, QODI, ?

Ans 1. PNAF
X2 PNAQ
X3 PNQR
X4 RSTQ
Question Type : MCQ
Question 1D : 630680312895
Option 11D : 6306801217458
Option 21D : 6306801217460
Option 31D : 6306801217459
Option 4 1D : 6306801217457
Status : Answered
Chosen Option - 1
Marks : 2
Q.12 In the following question, select the related letter pair from the given alternatives.
TG OB
Ans X1 GO:; FL
X2 PC:TG
v XK :UH
X 4 NA:RE
Question Type : MCQ
Question ID : 630680312899
Option 11D : 6306801217475
Option 21D : 6306801217474
Option 3 1D : 6306801217476
Option 4 1D : 6306801217473
Status : Answered
Chosen Option : 3
Marks : 2




Q13 v 4z TEE FweRH vF A G 3R, Rewdr gy & sfeer 9ot s sgs s e
TSMC, RQJZ, POGW, NMDT, ?

Ans X 1. QNRM
X2 LQRS
v 31 LKAQ
X4+ MNOQ

Question Type : MCQ
Question 1D : 630680312894
Option 11D : 6306801217455
Option 21D : 6306801217453
Option 3 1D : 6306801217454
Option 41D : 6306801217456
Status : Answered
Chosen Option: 3
Marks: 2

Q.14 X aloue can do E) part of a work in 4 bours. Y alote can do e} part of satiie work bn 5 hours, If they work together,
then how many hours will they take to complate (1—:) patt of the same work?

&

Ans 6
x 1. = hours

5
&2 % hours

i
X3 5 hours

11
X 4 = hours

Question Type : MCQ
Question 1D : 630680312764
Option 11D : 6306801216937
Option 21D : 6306801216938
Option 31D : 6306801216939
Option 4 1D : 6306801216940
Status : Answered
Chosen Option : 1
Marks: 0




Q15 % 1R TS a1 25 T G 6 9919 T. 18000 A, 6 FUWS T s fer 3w
Ans X 1. 3. 8400

X2 3. 6000

X3 %, 9000

v+ %, 9600

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

mcQ
630680312760
6306801216923
6306801216921
6306801216922
6306801216924
Answered

1

0

Q.16  Amit boughr 80 peacils (all at same cost price), He sold 20 pencils at a profit of 30 percent. 30 pencils at a profit of 20
percent and the remaining at the cost price. If he had sold all at a profit of 20 percent, then he would have got ¥ |25
more. What |s the cost price of each pencil?

Ans 1. 2.31.25

X2 Z365
X 333333
X4 3.37.25
Question Type : MCQ
Question |ID : 630680312759
Option 11D : 6306801216920
Option 21D : 6306801216918
Option 31D : 6306801216917
Option 4 |10 : 6306801216919
Status - Answered
Chosen Option: 3
Marks: 0
Q.17 A mon stasts from a place M and reaches the place N in 20 hours, He trnvrls% distance at the speed of 12 km/hir and the
rempining distance at the speed of 16 kvl What is the distance between M and N?
Ans 1 280 km
X 2450 km
X 3 360 km
X4 210 km
Question Type : MCQ
Question ID : 630680312763
Option 11D : 6306801216935
Option 21D : 6306801216934
Option 3 |10 : 6306801216936
Option 41D : 6306801216933
Status : Answered
Chosen Option: 1
Marks : 2




1% What is the value of (1.8)% + (0.7)% + 2.1 * (1.8)> = 5.4 % (0.7)22

Ans 1. 15.625

X2 15.125
X3 15525
X 4. 15725
Question Type : MCQ
Question ID : 630680312755
Option 11D : 6306801216902
Option 21D : 6306801216904
Option 3 1D : 6306801216901
Option 4 1D : 6306801216903
Status : Answered
Chosen Option : 2
Marks: 0
Q.19 v S 9T I9 3. 8400 A1 ITF @ TF . T o 20 T A ST T gEaET
T 30 T AT WEA HET A, T WY SIEHIE Seied] AT eesany e sme
Ans
v 1157 &5
X 21375 TFH
X3 15 o
X4125 T
Question Type : MCQ
Question ID : 630680312758
Option 11D : 6306801216914
Option 21D : 6306801216915
Option 3 1D : 6306801216916
Option 4 ID: 6306801216913
Status : Answered
Chosen Option: 1
Marks : 2
Q20 What is the unit digit of product of all even numbers between 1 to 11?
Ans 21 0
X2 4
X3 1
X4 8
Question Type : MCQ
Question ID : 630680312756
Option 11D : 6306801216906
Option 2 1D : 6306801216905
Option 3 1D : 6306801216908
Option 4 1D : 6306801216907
Status : Answered
Chosen Option: 1
Marks: 2




Q.21 Pipes Aand B together can fill a tank in 150 hours. Pipes Band C rogether can fill the same tank in 90 hours. Pipes A
and € rogether can fill the same mnk in 120 hours. In how many howrs can pipe B alone fill the same tank?

Ans X 1. 200 hours
# 2. 220 hours

X 3. 270 hours
« 4 240 hours
Question Type : MCQ
Question ID : 630680312765
Option 11D : 6306801216943
Option 21D : 6306801216942
Option 3 1D : 6306801216944
Option 4 1D : 6306801216941
Status : Answered
Chosen Option : 2
Marks: 0
Q22 . 2X111+3+50-37x2
What is the value of ?
98—-24x2
Ans X1 15
X2 11
3 ]
x40
Question Type : MCQ
Question ID : 630680312754
Option 11D : 6306801216900
Option 2 1D : 6306801216899
Option 3 1D : 6306801216898
Option 4 1D : 6306801216897
Status : Answered
Chosen Option : 3
Marks: 2
Q.23 The atio of number of boys and girls in a class is 12 : 13. The avernge weight of boys and gitls in the class is 50 kg and
75 kg respectively. What is the average weight of all the boys and girls together?
s X1 T2kg
2 63 kg
X3 67kg
X 4. 69 kg
Question Type - MCQ
Question ID : 630680312757
Option 110 : 6306801216912
Option 21D : 6306801216909
Option 31D : 6306801216911
Option 4 1D : 6306801216910
Status : Answered
Chosen Option : 2
Marks : 2




Q.24 Ramesh covers 5/6 part of the total distance by bus and the remaining 36 km by car. What is the total distance of his

Journey?
Ans 1. 216 km
X 2. 60 km
X 3 00 km
X4 120 km
Question Type : MCQ
Question ID : 630680312762
Option 11D : 6306801216932
Option 2 1D : 6306801216931
Option 3 1D : 6306801216929
Option 4 1D : 6306801216930
Status : Answered
Chosen Option : 1
Marks: 2
Q.25 s carem=h soTAT SfE F SF AW, a7 TEEE ST A4 35 T EUe S0 @ed & 2
o T 4556.25 FE?
Ans X 1.%. 2700
X2 %, 4000
X3 %, 3000
v 4 %, 2500
Question Type : MCQ
Question ID : 630680312761
Option 11D : 6306801216925
Option 2 1D : 6306801216927
Option 31D : 6306801216928
Option 41D : 6306801216926
Status : Answered
Chosen Option : 4
Marks: 2




